
l; g+= ljj/)f b/ 

1   Plss[t ;DkQL s/÷#/hUuf s/ 
s'n d'Nof+s)f ePsf] ;DklQsf] 

0=001 sf b/n] nfUg] 

l;=g++= ljj/)f b/ -k|lt ju{ld^/sf] _

1 l;d ahf/ / /f*L ahf/ If]q -s ju{_ ¿= 0=50 k|lt ju{ld^/
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%]kf/]b]lv l;d ahf/;Dd -l;dahf/ If]qeGbf  

500 ld^/ jflx/_ / /f*Lahf/ -/f*L ahf/ 

If]qeGbf 500 ld^/ jflx/_ b]lv #f/Lvf]nf;Dd 

d'n ;*sb]lv 50 ld^/ bfof+jfof +-v ju{_

v]t ¿= 0=25 k|ltju{ld^/ 

kfvf] ¿= 0=15 k|ltju{ld^/

3

/f*L -/f*L jhf/ If]q jfx]s_ b]lv lqj])fL;Dd 

d'n ;*ssf] 50 ld^/ bfof+jfof+ bfdfrf}/ b]lv 

lqj])fL;Ddsf] If]q jfx]s -u ju{_

v]t ¿= 0=20 k|ltju{ld^/  

kfvf] ¿= 0=10 k|ltju{ld^/

4 j*fx?sf d"Vo j:tL -# ju{_
v]t ¿= 0=15 k|ltju{ld^/ kfvf] 

¿= 0=07 k|ltju{ld^/

5 dfly pNn]lvt jfx]ssf] If]q -ª ju{_
v]t ¿= 0=07 k|ltju{ld^/ 

kfvf] ¿= 0=05 k|ltju{ld^/ 

cg";'rL 1

;DkQL s/ 

cg";'rL 2

e'dL s/ -dfnkf]t _


